

A Note on the Oscillation of Second-Order Nonlinear Neutral Functional Differential Equations¹

Rongcong Xu and Yonghui Xia

College of Mathematics and Computer Science
Fuzhou University, Fuzhou, China, 350002
maths@fzu.edu.cn (R. Xu)
yhxia@fzu.edu.cn (Y.H.Xia)

Abstract

In this paper, some sufficient conditions for oscillation of second-order nonlinear neutral functional differential equation

$$[x(t) + p(t)x(t - \tau)]'' + q(t)f(x(t - \delta)) = 0, \quad t \geq 0$$

are established, for the case: $-1 \leq p(t) \leq 0$ or $0 \leq p(t) < \infty$, $q(t)$ is sign-constant. We note that most the references in the literature devoted themselves to considering the case: $0 \leq p(t) \leq 1$, while there is few paper considering the case: $0 \leq p(t) < \infty$. This paper is devoted to filling this gap. The method is based on the Riccati transformation and integral averaging technique. Finally, some illustrating examples are presented to show the feasibility and effectiveness of our results.

Keywords: Oscillation; Neutral; Second order differential equations

1. Introduction

Oscillation (including the periodic oscillation, almost periodic oscillation) of functional differential equations or difference equations has been received great attention and has been studied extensively (see e.g. [1-29]). This direction is and will be one of the main topics of the study for differential equations and difference equations. The main purpose of this paper is to find oscillation criteria for second-order nonlinear neutral functional differential equation

$$[x(t) + p(t)x(t - \tau)]'' + q(t)f(x(t - \delta)) = 0, \quad t \geq 0, \quad (1.1)$$

¹This work was supported by the Natural Science Foundation of Fujian Province of China under Grant (No. S0750008) and the Foundation of Fujian Education Bureau under the Grant (JB06021 and JB06029).

where $\tau, \delta > 0$, $p, q \in C([0, \infty), (-\infty, \infty))$ and $f \in C((-\infty, \infty), (-\infty, \infty))$. As usual, a solution $x(t)$ of equation (1.1) is said to be oscillatory if it has arbitrarily large zeros, otherwise it is said to be non-oscillatory. Equation (1.1) is said to be oscillatory if its every solution is oscillatory.

Many references to some applications of equation (1.1) can be found in [15-16]. The oscillation of this type differential equations has attracted much attention of many authors in the last decade (see [1-12]). Sorted by the value of function $p(t)$, there are following four cases of research on this problem. How about the progress in this aspect? We give a list as follows:

1. $-1 \leq p(t) \leq 0$. Only references [10-12] are found devoted to this case.
2. $0 \leq p(t) \leq 1$. This case is investigated most fully of the four cases, such as [1-5, 7-10].
3. $1 < p(t) < \infty$. For this case we only find reference [7].
4. $p(t)$ is oscillatory. Only reference [6] deals with this case, under condition $\lim_{t \rightarrow \infty} p(t) = 0$.

If $p(t) \equiv \text{constant } p$, the oscillation of equation (1.1) can be studied by its characteristic equation (see, for example [8]). In the papers where $p(t) \neq p$, Riccati transformation $y(t) = x(t) + p(t)x(t - \tau)$ is usually used to transform neutral equation (1.1) to some certain non-neutral equation (see e.g. [1-7, 9-12]).

Except for the Case 2, it is difficult to find much references for the other three cases respectively. The reason for this contrast may be due to the fact that it is more difficult to perform a study of the function $y(t) = x(t) + p(t)x(t - \tau)$ for $x(t) > 0$ in the Case 1, Case 3 and Case 4. Especially for the Case 3, we only find Tanaka [7] gives a sufficient and necessary condition. But as far as we know the oscillation criteria for the case $0 \leq p(t) \leq \infty$ has not been studied yet. In this paper, we want to fill this gap (see Theorem 3.1 in Section 3).

From the literature [1-11], one can find that all of these literatures under the conditions $xf(x) > 0$ for $x > 0$ and $q(t) \geq 0$ for $t \geq 0$ which are employed to ensure that $y''(t) = [x(t) + p(t)x(t - \tau)]'' = -q(t)f(x(t - \delta)) \leq 0$ for all $x(t) > 0$ and $t \geq t_0 > 0$. In additional, either $f(x)$ is non-decreasing or $f(x)/x \geq k$ (k is a positive constant) or both of them are needed in these literature, which make it is possible to study nonlinear equation (1.1) by a linear equation or inequality. In fact, such conditions have become standard in the related literature, besides [1-11], we refer the readers to the papers [13-14].

This paper deals with equation (1.1) with the following cases (H_1) and (H_2) respectively:

- (H₁) $-\mu \leq p(t) \leq 0$, where $\mu \in (0, 1)$;
- (H₂) $0 \leq p(t) < \infty$.

Some illustrating examples will be given. In some sense, the results in this paper improve some previous works such as [10,11].

Throughout this paper, we assume that equation (1.1) satisfies the following hypothesis:

- (H₃) $\frac{f(x)}{x} \geq k > 0$ for $x \neq 0$;
- (H₄) $q(t) \geq M > 0$ for $t \geq 0$.

2. The case $-1 \leq -\mu \leq p(t) \leq 0$

Consider first-order differential linear differential inequalities:

$$y'(t) + a(t)y(t - \tau) \leq 0, \quad t \geq 0, \tag{2.1}$$

and

$$y'(t) + a(t)y(t - \tau) \geq 0, \quad t \geq 0 \tag{2.2}$$

where $a(t) \in C(R, (0, \infty))$, $\tau > 0$.

In the proof of our main results, we need the following well-known oscillation criteria for inequalities (2.1) and (2.2) (see [15]).

Lemma 2.1. [15] Assume that

$$\liminf_{t \rightarrow \infty} \int_{t-\tau}^t a(s)ds > \frac{1}{e}. \tag{2.3}$$

Then inequality (2.1) has no eventually positive solutions and inequality (2.2) has no eventually negative solutions.

Theorem 2.1. Assume that $\delta > 2\tau$ and (H₁), (H₃) hold. Assume further that $f(x)$ is nondecreasing and

- (H₅) $q(t) \geq \frac{\mu}{k e^\tau}$, where k is as in (H₃).

Then equation (1.1) is oscillatory.

Proof. Assume that equation (1.1) has a non-oscillatory solution $x(t)$. Without loss of generality, assume that $x(t)$ is eventually positive (the proof is similar when $x(t)$ is eventually negative). That is, let $x(t) > 0$ for $t \geq t_0 - \delta > 0$. Set

$$y(t) = x(t) + p(t)x(t - \tau).$$

Then it follows from (1.1) that

$$y''(t) = -q(t)f(x(t - \delta)) \leq 0 (\neq 0), \tag{2.4}$$

which implies that there exists $t_1 \geq t_0$ such that $y'(t) > 0$ or $y'(t) < 0$ for $t \geq t_1$.

¹ If $y'(t) > 0$ for $t \geq t_1$. Then there exists $t_2 > t_1$ such that $y(t) > 0$ or $y(t) < 0$ for $t \geq t_2 - \delta$.

First let us consider the case of $y'(t) > 0$ and $y(t) > 0$ for $t \geq t_2 - \delta$. Since $x(t - \delta) \geq y(t - \delta)$ and $f(x)$ is non-decreasing, it follows from (2.4) that

$$y''(t) + q(t)f(y(t - \delta)) \leq 0, \quad t \geq t_2.$$

Integrating the above inequality from t_2 to ∞ , and note that $y(t)$ is increasing on $[t_2 - \delta, \infty)$, we get

$$\begin{aligned} \infty > y'(t_2) &\geq y'(\infty) + \int_{t_2}^{\infty} q(s)f(y(s - \delta))ds \\ &\geq \int_{t_2}^{\infty} q(s)f(y(s - \delta))ds \\ &\geq f(y(t_2 - \delta)) \int_{t_2}^{\infty} q(s)ds \rightarrow \infty \end{aligned}$$

which is a contradiction.

Second we claim that the case of $y'(t) > 0$ and $y(t) < 0$ for $t \geq t_2 - \delta$ doesn't hold. Otherwise, since $x(t - \delta) > -\frac{1}{\mu}y(t + \tau - \delta)$ and $f(x)$ is nondecreasing, it follows from (2.4) that

$$y''(t) + q(t)f(-\frac{1}{\mu}y(t + \tau - \delta)) \leq 0, \quad t \geq t_2.$$

Integrating the above inequality from t (here $t \geq t_2 - \delta$) to $t + \tau$, we have

$$-y'(t) + \int_t^{t+\tau} q(s)f(-\frac{1}{\mu}y(s + \tau - \delta))ds \leq -y'(t + \tau) < 0.$$

Noting that $-\frac{1}{\mu}y(t)$ is decreasing on $[t_2 - \tau, \infty)$, we have

$$-y'(t) + f(-\frac{1}{\mu}y(t + 2\tau - \delta)) \int_t^{t+\tau} q(s)ds < 0.$$

By condition (H_3) , we have

$$-y'(t) - y(t + 2\tau - \delta) \frac{k}{\mu} \int_t^{t+\tau} q(s)ds < 0.$$

That is

$$y'(t) + y(t + 2\tau - \delta) \frac{k}{\mu} \int_t^{t+\tau} q(s)ds > 0. \quad (2.5)$$

Applying Lemma 2.1 with $a(t) = \frac{k}{\mu} \int_t^{t+\tau} q(s)ds$, by (H_5) we

$$\int_{t-\tau}^t a(s)ds \geq \frac{1}{e},$$

therefore inequality (2.5) has no eventually negative solutions which contradicts the assumption that $y(t) < 0$ for $t \geq t_2 - \delta$.

²⁰ If $y'(t) < 0$ for $t \geq t_1$. The inequality $y'(t) \leq y'(t_1) < 0$ implies that

$$\lim_{t \rightarrow \infty} y(t) = -\infty.$$

Then there exist $c > 0$ and $t_3 > t_0$ such that

$$x(t) + p(t)x(t - \tau) \leq -c, \quad t \geq t_3,$$

which yields that

$$x(t + \tau) \leq -c + \mu x(t), \quad t \geq t_3.$$

Continuing inductively, we get

$$x(t_3 + n\tau) \leq -\sum_{i=1}^n c\mu^{i-1} + \mu^n x(t_3).$$

Therefore $x(t_3 + n\tau) < 0$ for sufficiently large n which contradicts the assumption that $x(t) > 0$ for $t \geq t_1$. This completes the proof. \square

Remark 2.1. From the proof, Theorem 2.1 holds also for $\mu = -1$. But in the following theorem 2.2, $\mu \neq -1$.

Next we will give another sufficient condition for the oscillation of equation (1.1), conditions of the Theorem 2.1 are weakened. As a result, we obtain a more conservative result.

Theorem 2.2. Suppose that (H_1) , (H_3) and (H_4) hold. Then every solution of equation (1.1) either oscillates or tends to zero as $t \rightarrow \infty$.

Proof. Assume that $x(t) > 0$ for $t \geq t_0 - \delta > 0$ is a solution of equation (1.1). Set

$$y(t) = x(t) + p(t)x(t - \tau).$$

Then it follows from (1.1) that

$$y''(t) = -q(t)f(x(t - \delta)) \leq 0 (\neq 0), \quad (2.6)$$

which implies that there exists $t_1 \geq t_0$ such that $y'(t) > 0$ or $y'(t) < 0$ for $t \geq t_1$.

¹⁰ We claim that the case $y'(t) > 0$ for $t > t_1$ does not hold. Otherwise, integrating (2.6), we have

$$\infty > y'(t_1) \geq y'(t_1) - y'(t) = \int_{t_1}^t q(s)f(x(s - \delta))ds \geq kM \int_{t_1}^t x(s - \delta)ds,$$

which implies that $x(t) \in L(t_1, \infty)$. Then

$$y(t) = x(t) + p(t)x(t - \tau) \in L(t_1, \infty). \quad (2.7)$$

Since $y(t)$ is increasing and integrable, then $\lim_{t \rightarrow \infty} y(t) = 0$. We claim that $x(t)$ is bounded in $[t_1, \infty)$. If not, then $\limsup_{t \rightarrow \infty} x(t) = \infty$ so that there exists a sequence $t_n \geq t_1$ satisfying $x(t_n) \geq x(t_n - \tau)$, $x(t_n) \rightarrow \infty$ as $t \rightarrow \infty$. Then, we have

$$y(t_n) = x(t_n) + p(t_n)x(t_n - \tau) \geq x(t_n) - \mu x(t_n - \tau) = (1 - \mu)x(t_n) \rightarrow \infty, \quad t \rightarrow \infty,$$

which contract the fact that $\lim_{t \rightarrow \infty} y(t) = 0$.

From this claim, there exists $c \geq 0$ such that $\limsup_{t \rightarrow \infty} x(t) = c$. Then

$$\begin{aligned} 0 &= \limsup_{t \rightarrow \infty} [x(t) + p(t)x(t - \tau)] \\ &\geq \limsup_{t \rightarrow \infty} [x(t) - \mu x(t - \tau)] \\ &\geq \limsup_{t \rightarrow \infty} x(t) + \liminf_{t \rightarrow \infty} [-\mu x(t - \tau)] \\ &= \limsup_{t \rightarrow \infty} x(t) - \mu \limsup_{t \rightarrow \infty} x(t - \tau) \\ &= (1 - \mu)c. \end{aligned}$$

Therefore $\limsup_{t \rightarrow \infty} x(t) = c = 0$, which implies that $\lim_{t \rightarrow \infty} x(t) = 0$.

^{2^o} The case $y'(t) < 0$ for $t \geq t_1$ does not hold, the proof is the same to that of Theorem 2.1. This completes the proof. \square

3. The case $0 \leq p(t) < \infty$

In this section, we establish the oscillation criteria for equation (1.1) in the case $0 \leq p(t) < \infty$. Comparing the following theorem 3.1 with Theorem 2.2, maybe one can get some idea about why it is more difficult to deal with $-1 \leq p(t) \leq 0$ than $0 \leq p(t) \leq 1$, as we point out in our introduction.

Theorem 3.1. Suppose that (H_2) - (H_4) hold. Then equation (1.1) is oscillatory.

Proof. Assume that $x(t) > 0$ for $t \geq t_0 - \delta > 0$ is a solution of equation (1.1). Set

$$y(t) = x(t) + p(t)x(t - \tau).$$

Then $y(t) > 0$, and it follows from (1.1) that

$$y''(t) = -q(t)f(x(t - \delta)) \leq 0 (\neq 0)$$

which implies that there exists $t_1 \geq t_0$ such that $y'(t) > 0$ or $y'(t) < 0$ for $t \geq t_1$.

¹ If $y'(t) > 0$ for $t > t_1$. Then the same to the proof of (2.7), we get

$$y(t) = x(t) + p(t)x(t - \tau) \in L(t_1, \infty).$$

But inequality $y(t) \geq y(t_1) > 0$ implies that $y(t) \notin L(t_1, \infty)$. We obtain a contradiction.

² If $y'(t) < 0$ for $t > t_1 \geq t_0$, then

$$\lim_{t \rightarrow \infty} y(t) = -\infty$$

which contradicts to the fact that $y(t) > 0$ for $t \geq t_0 - \delta > 0$.

□

4. Examples

In this section, we will give some applications of our oscillation criteria for equation (1.1). For the case $-1 \leq -\mu \leq p(t) \leq 0$, we only find literature [10-12]. In reference [11] the author gives a counterexample to show that the theorem in reference [12] is false. We will give two oscillatory equations based on our theorems, but it cannot be demonstrated by [10-11] as follows:

Example 4.1. Consider the equation

$$[x(t) - x(t - 0.4)]'' + (t + 1)[x(t - 1) + x^3(t - 1)] = 0, \quad t \geq 0. \quad (4.1)$$

Here $p(t) \equiv 1$, $q(t) = t + 1$ and $f(x) = x + x^3$. By our remark 2.1, equation (4.1) is oscillatory. The results in [10] fail to apply to equation (1.1) with $p(t) \equiv -1$. There are two oscillation criteria in [11], Theorem 2.1 [11] fails to the case $q(t) = t + 1$, and $\int_0^\varepsilon f(x)dx = +\infty$ for any $\varepsilon > 0$ makes Theorem 3.1 [11] invalid to equation (4.1).

Example 4.2. Consider the equation

$$[x(t) - x(t - \tau)]'' + (t + 1)[2x(t - \delta) + x(t - \delta) \sin x(t - \delta)] = 0, \quad t \geq 0, \quad (4.2)$$

where $\tau, \delta \geq 0$. By Theorem 2.2, every solution $x(t)$ is oscillatory or $\lim_{t \rightarrow \infty} x(t) = 0$. Here $f(x) = 2x + x \sin x$ is nondecreasing which is one of conditions in the oscillation theorems in [11].

We will give an application example for Theorem 3.1 as follows:

Example 4.3. Consider the equation

$$[x(t) + (3 + \sin t)x(t - \tau)]'' + e^{\cos t}[2x(t - \delta) + x(t - \delta) \sin x(t - \delta)], \quad t \geq 0, \quad (4.3)$$

for any $\tau, \delta \geq 0$. By Theorem 3.1, equation (4.3) is oscillatory.

References

- [1] P. Wang, Oscillation criteria for second-order neutral equations with distributed deviating arguments, *J. Comp. Math. Appl.* 47 (2004) 1935-1946.
- [2] Z. Xu, P. Weng, Oscillation of second order neutral equations with distributed deviating argument, *J. Comp. Appl. Math.* 202 (2007) 460-477.
- [3] Q. Zhang, J. Yan, Oscillation behavior of even order neutral differential equations with variable coefficients, *Appl. Math. Lett.* 19 (2006) 1202-1206.
- [4] W. Shi, P. Wang, Oscillatory criteria of a class of second-order neutral functional differential equations, *Appl. Math. Comp.* 146 (2003) 211-226.
- [5] R. P. Agarwal, S. R. Grace, The oscillation of higher-order differential equations with deviating arguments, *J. Comp. Appl. Math.* 38 (1999) 185-199.
- [6] Y. Bolat, O. Akin, Oscillatory behaviour of higher order neutral type nonlinear forced differential equation with oscillating coefficients, *J. Math. Anal. Appl.* 290 (2004) 302-309.
- [7] S. Tanaka, A oscillation theorem for a class of even order neutral differential equations, *J. Math. Anal. Appl.* 273 (2007) 172-189.
- [8] Q. Meng, J. Yan, Bounded oscillation for second order non-linear neutral delay differential equations in critical and non-critical cases, *Nonlinear Anal.* 64 (2006) 1543-1561.
- [9] R. Xu, F. Meng, Some new oscillation criteria for second order quasi-linear neutral delay differential equations, *Appl. Math. Comp.* 182 (2006) 797-803.
- [10] Q. Yang, L. Yang, S. Zhu, Interval criteria for oscillation of second-order nonlinear neutral differential equations, *J. Comp. Math. Appl.* 46 (2003) 903-918.
- [11] X. Lin, Oscillation of second-order nonlinear neutral differential equations, *J. Math. Anal. Appl.* 309 (2005) 442-452.
- [12] J. Wong, Necessary and sufficient conditions for oscillation of second-order neutral differential equations, *J. Math. Anal. Appl.* 252 (2000) 342-352.
- [13] X. Zhao, F. Meng, Oscillation of second-order nonlinear ODE with damping, *Appl. Math. Comp.* 182 (2006) 1861-1871.

- [14] J. Luo, L. Debnath, Oscillation criteria for second-order quasilinear functional differential equations, *J. Comp. Math. Appl.* 44 (2002) 731-739.
- [15] I. Gyori, G. Ladas, Oscillation theory of delay differential equations with applications, Clarendon, Oxford, 1991.
- [16] J. Hale, Theory of functional differential equations, Springer-Verlag, New York, 1977.
- [17] J. Cao, Q. Song, Stability in Cohen-Grossberg type BAM neural networks with time-varying delays, *Nonlinearity*, 19:7 (2006) 1601-1617.
- [18] J. Cao, J. Lu, Adaptive synchronization of neural networks with or without time-varying delays, *Chaos*, 16(2006), art. no. 013133 24.
- [19] J. Cao, K. Yuan, Daniel W. C. Ho and James Lam, Global point dissipativity of neural networks with mixed time-varying delays, *Chaos*, 16(2006), art. no. 013105.
- [20] J. Cao, X. Li, Stability in delayed Cohen-Grossberg neural networks: LMI optimization approach, *Physica D*, 212:1-2(2005), 54-65.
- [21] J. R. Yan, A. Zhao, W. Yan, Existence and global attractivity of periodic solution for an impulsive delay differential equation with Allee effect, *J. Math. Anal. Appl.*, 309(2005), 489- 504.
- [22] J. R. Yan, F. Q. Zhang, Oscillation for System of Delay Difference Equations, *J. Math. Anal. Appl.*, 230(1999), 223-231.
- [23] F. Q. Zhang, Z. Ma, J. R. Yan, Boundary value problems for first order impulsive delay differential equations with a parameter, *J. Math. Anal. Appl.*, 290(2004), 213-223.
- [24] F. Q. Zhang, M. Li, J. R. Yan, Nonhomogeneous boundary value problem for first-order impulsive differential equations with delay *Comput. Math. Appl.*, 51, (2006), 927-936.
- [25] Y. H. Xia, S. S. Cheng, Quasi-uniformly Asymptotic Stability and Existence of Almost Periodic Solutions of Difference Equations With Applications in Population Dynamic Systems, *Journal of Difference Equations and Applications*, 14:1 (2008), 59-81.
- [26] Y.H.Xia, J. Cao, S. S. Cheng, Periodicity in a Lotka Volterra mutualism system with several delays, *Appl. Math. Modelling*, 31:9 (2007) 1960-1969.

- [27] Y.H.Xia, J. Cao, S. S. Cheng, Multiple Periodic Solutions of a Delayed Stage-structured Predator-prey Model With Nonmonotone Functional Responses, *Appl. Math. Modelling*,31:9 (2007), 1947-1959.
- [28] Y. H. Xia, J. Cao, M. Han, A new analytical method for the linearization of dynamic equation on measure chains, *Journal of Differential Equations*, **235**:2 (2007), 527-543.
- [29] Y.H.Xia, J.Cao, Almost-periodic solutions for an ecological model with infinite delays, *Proc. Edinburgh Math. Soc.*,50:1(2007),229-249.

Received: March 25, 2008